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Financial Management
and Economics for Finance

FDG-H 547 om

Answers to questions are to be given only in English except in the case of candidates who
have opted for Hindi Medium. If a candidate who has not opted for Hindi Medium,
his/her answers in Hindi will not be valued.

SECTION - A 60 Marks
Question No. 1 is compulsory.

Candidates are also required to answer any Four questions from the remaining
Five questions.

Working notes should form part of the respective answers.

Marks
1. (a) Following information are given for a company : 5
Earnings per share %10
P/E ratio 12.5
Rate of return on investment 12%
Market price per share as per Walter’s model X130

You are required to calculate :

(i) Dividend payout ratio.

(ii) Market price of share at optimum dividend payout ratio.

(iii) P/E ratio, at which the dividend policy will have no effect on the
price of share.

(iv) Market price of share at this P/E ratio.

(v) Market price of share using Dividend growth model.
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(b) A company has current sale of Z 12 lakhs per year. The profit-volume

©

ratio is 20% and post-tax cost of investment in receivables is 15%. The
current credit terms are 1/10, net 50 days and average collection period
is 40 days. 50% of customers in terms of sales revenue are availing
cash discount and bad debt is 2% of sales.

In order to increase sales, the company want to liberalize its existing
credit terms to 2/10, net 35 days. Due to which, expected sales will
increase to ¥ 15 lakhs. Percentage of default in sales will remain same.
Average collection period will decrease by 10 days. 80% of customers
in terms of sales revenue are expected to avail cash discount under this
proposed policy.

Tax rate is 30%.

ADVISE, should the company change its credit terms. (Assume 360

days in a year.)

A company wants to invest in a project. This requires an initial
investment of ¥ 4,50,000. Salvage value after estimated useful life of
5 years is X 50,000. Other details of project are as follows :

Worst case | Most likely | Best case
Contribution (%) 3,30,000 5,40,000 6,31,250
Fixed cost (excluding | 75,000 1,50,000 2,00,000
depreciation) (%)

Tax rate is 40%. Expected cost of capital of project is 12%. Ignore tax
on capital gain.

(i) Calculate NPV in each scenario.

FDG-H
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(ii)) The company is certain about most likely result in first two years,
but uncertain about remaining period. In such a situation,
calculate NPV expecting worst case scenario during next two
years and best case scenario in the remaining period.
Years 1 ! 3 4 5
PVIF 154 0.893 | 0.797 | 0.712 | 0.636 | 0.567

PVIFA,,, | 0.893 | 1.690 | 2.402 | 3.038 | 3.605

(d) Following information is given for X Ltd. : 5
Total contribution (%) 4,25,000
Operating leverage 3.125
15% Preference shares (X 100 each) 1,000
Number of equity shares 2,500
Tax rate 50%

Calculate EPS of X Ltd., if 40% decrease in sales will result EPS to zero.

Following information and ratios are given in respect of AQUA Ltd. for the 10
year ended 31% March, 2023 :

Current ratio 4.0

Acid test ratio 2.5
Inventory turnover ratio (based on sales) 6
Average collection period (days) 70
Carnings per share 3.5
Current liabilities ¥ 3,10,000
Total assets turnover ratio (based on sales) | 0.96

Cash ratio 0.43
Proprietary ratio 0.48
Total equity dividend %1,75,000
Equity dividend coverage ratio 1.60

Assume 360 days in a year.

FDG-H P.T.O.
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Balance Sheet as on 31°* March, 2023

You are required to complete Balance Sheet as on 31% March, 2023.

Liabilities 4 Assets L4
Equity share capital XXX Fixed assets XXX
(X 10 per share )

Reserves & surplus XXX Inventory XXX
Long-term debt XXX Debtors XXX
Current liabilities 3,10,000 | Loans & advances XXX

Cash & bank XXX
Total XXX Total XXX

The following information pertains to CIZA Ltd. :

Capital Structure : h 4
Equity share capital (210 each) 8,00,000
Retained earnings 20,00,000
9% Preference share capital (3100 each) 12,00,000
12% Long-term loan 10,00,000
Interest coverage ratio 8
Income tax rate 30%
Price —earnings ratio 25

By issue of equity shares at present market price, or

By borrowing 16% Long-term loans from bank.

FDG-H
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The company is proposed to take up an expansion plan, which requires an
additional investment of ¥ 34,50,000. Due to this proposed expansion,
earnings before interest and taxes of the company will increase by

% 6,15,000 per annum. The additional fund can be raised in following manner :

Marks
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You are informed that Debt-equity ratio (Debt / Shareholders’ fund) in the
range of 50% to 80% will bring down the price-earnings ratio to 22
whereas; Debt-equity ratio over 80% will bring down the price-earnings
ratio to 18.
Required :
Advise which option is most suitable to raise additional capital so that the

Market Price per Share (MPS) is maximised.

Capital structure of D Ltd. as on 31% March, 2023 is given below :

Particulars L4
Equity share capital (Z 10 each ) 30,00,000
8% Preference share capital (X100 each) | 10,00,000
12% Debentures (X 100 each) 10,00,000

. Current market price of equity share is ¥ 80 per share. The company
has paid dividend of ¥ 14.07 per share. Seven years ago, it paid
dividend of Z 10 per share. Expected dividend is X 16 per share.

. 8% Preference shares are redeemable at 6% premium after five years.
Current market price per preference share is T 104.

. 12% debentures are redeemable at 20% premium after 10 years.
Flotation cost is X 5 per debenture.

e  The company is in 40% tax bracket.

« In order to finance an expansion plan, the company intends to borrow
15% Long-term loan of  30,00,000 from bank. This financial decision
is expected to increase dividend on equity share from 16 per share to
Z 18 per share. However, the market price of equity share is expected
to decline from ¥ 80 to ¥ 72 per share, because investors’ required rate

of return is based on current market conditions.
FDG-H
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Required :

(@)

(ii)

Determine the existing Weighted Average Cost of Capital (WACC)
taking book value weights.
Compute Weighted Average Cost of Capital (WACC) after the

expansion plan taking book value weights.

Marks

Interest Rate | 1% 2% 3% 4% 5% 6% 7%
FVIF 1.051 | 1.104 | 1.159 | 1.217 | 1.276 | 1.338 | 1.403
FVIF; ¢ 1.062 | 1.126 | 1.194 | 1.265 | 1.340 | 1.419 | 1.501
FVIF, ; 1.072 | 1.149 | 1.230 | 1.316 | 1.407 | 1.504 | 1.606

Four years ago, Z Ltd. had purchased a machine of ¥ 4,80,000 having

estimated useful life of 8 years with zero salvage value. Depreciation is

charged using SLM method over the useful life. The company want to

replace this machine with a new machine. Details of new machine are as

below :

Cost of new machine is Z 12,00,000. Vendor of this machine is agreed
to take old machine at a value of ¥ 2,40,000. Cost of dismantling and
removal of old machine will be ¥ 40,000. 80% of net purchase price
will be paid on spot and remaining will be paid at the end of one year.
Depreciation will be charged @ 20% p.a. under WDV method.
Estimated useful life of new machine is four ycars and it has salvage
value of X 1,00,000 at the end of year four.

Incremental annual sales revenue is T 12,25,000.

Contribution margin is 50%.

Incremental indirect cost (excluding depreciation) is % 1,18,750 per

year.

FDG-H
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. Additional working capital of T 2,50,000 is required at the beginning

of year one and % 3,00,000 at the beginning of year three. Working

capital at the end of year four will be nil.
. Tax rate is 30%.
. Ignore tax on capital gain.

Z Ltd. will not make any additional investment, if it yields less than

12%.

Advice, whether existing machine should be replaced or not.

Year 1 2 3 4 5
PVIFMZ,t 0.893 | 0.797 | 0.712 | 0.636 | 0.567

(a) List out the conditions, framed by SEBI, which a company needs to 4

fulfil in order to issue of bonus shares.
(b) “Permanent working capital and fluctuating (temporary) working 4
capital, both are necessary to facilitate production and sales through

the operating cycle.” — Describe.

(c) Briefly explain concept of “Trading on Equity” in financial leverage 2

analysis.
OR
Discuss features of Secured Premium Notes. 2
FDG-H P.T.O.

© The Institute of Chartered Accountants of India



®)
FDG-H

SECTION -B

Question No. 7 is compulsory.

Answer any Three questions from the rest.

Working notes should form part of the respective answers.

(a) The following information relating to a particular financial year of a

country is given below :

Particulars Amount
R in crore)
Private final consumption expenditure 1620
Government final consumption expenditure 750
Net domestic fixed investment 500
Export 400
Import 440
Net Factor Income from Abroad 20
Net Indirect Taxes 100

You are required to compute the National Income of the country by

using Expenditure Method.

(b) Compute the Reserve Money from the following data relating to

315 March, 2023 :

Particulars R in crore)
Currency in Circulation 28637
Bank Deposits with RBI 5673
Post Office Deposits 400
Other Deposits with RBI 210

() Explain the differences between Foreign Direct Investment (FDI) and

Foreign Portfolio Investment (FPI).

(d) Describe the name and salient features of the fiscal policy for

combating inflationary pressures in the economy.

FDG-H
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Following information is related to an economy :
Autonomous consumption % 1,000 crore
Marginal propensity to consume 0.8
Equilibrium level of income % 10,000 crore

You are required to calculate the investment expenditure and
consumption expenditure of the economy.

(i) Explain the government interventions for combating the market
failures due to information problem.

(b) (i) Compute M1 and M4 from the following data relating to

31%t March, 2023 : R in crore)
Notes in circulation 3,01,78,670
Circulation of rupee coins 6,48,902
Demand deposits with banks 1,41,31,650
Time Deposits with Banks 31,24,276
Cash in hand with banks 7,64,130
Other Deposits with RBI 3,98,048
Post Office Savings Deposits 2,02,684
Post Office National Savings Certificates (NSCs) 820

(ii) Describe the exchange rate regime that is commonly used by the

(@ @

countries in real world.

Two Countries G and H are producing Sugar and Steel. The table
given below shows the number of labour hours required to
produce Sugar and Steel :

Commodity Country G | Country H

One Unit of Sugar 6.0 2.0

One Unit of Steel 2.5 5.0

(A) Compute the Productivity of labour in both countries in
respect of both commodities.

Marks

(B) Which country has absolute advantage of production of Steel ?
(C) Which country has absolute advantage of production of Sugar ?

FDG-H
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In an economy investments have been increased by ¥ 5,000 crore. 2
The Marginal Propensity to Consume (MPC) is 0.82.
You are required to compute the total increase in income and
saving in the economy.
Discuss the similarities between Fisher’s Transaction approach 3
and Cambridge Cash Balance approach
Explain the following terms : 2
. Stagflation
e  Contagion Effect
Following information relating to a developing country is 3
available to you :

Investment (I) T 140 crore

Government Expenditure (G) | T 90 crore

Export (X) T 100 crore

Consumption Function (C) = | 80 + 0.8 Yd(Disposable Income)

Import (M) = 50 + 0.09Y (Income)

Tax (T) 0.2 Y (Income)
You are required to :
(A) Find out equilibrium level of income (Y).
(B) Calculate foreign trade multiplier.
(C) Calculate net export if investment is increased by % 30

crore,

A customer of a bank deposits ¥ 50,000 in his bank. The bank is 2

required to keep a cash reserve of 20 percent to meet the demand
for cash by its depositors.

Calculate the amount of bank deposits the banking system as a whole

would generate on the basis of such deposit by the customer.

FDG-H
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Is World Trade Organisation (WTO) better than General 3
Agreement on Tariffs and Trade (GATT) ? Explain with reasons.

Write down the name of the terms used in the analysis of the 2
effect of externalities in the following conditions:
(A) The change in the cost to parties other than the producer or buyer of
a good or service due to an additional unit of the good or service.
(B) The change in society’s total benefits associated with an
additional unit of good or service.
(C) The change in the benefit to parties other than the producer
or buyer of a good or service due to an additional unit of the
good or service.
(D) The change in society’s total cost brought about by an

additional unit of a good or service.

Suppose in an economy, government expenditure is increased by 3
% 10 crore and taxes increased by ¥ 5 crore. Spending multiplicr
of the economy is 5. What impact would such increase have on

GDP ?

Calculate the arbitrage for £2,00,000 from the following details: 2
£1=3%100

US $ 1=380

£1=US $ 1.30 in UK

Repo injects liquidity into the system whereas the reverse repo 3
absorbs the liquidity from the system. In the light of this
statement briefly state the impact of high repo and reverse repo

rate on a developing economy.
FDG-H P.T.O.
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(i) What steps are to be taken by the Government as' ii?l'st:rumentsf‘-of ; 2 |
trade policy in the following cases ?
(A)-, There 1s severe shortage of an essential product X in Indian
'domesti‘gmarketfdue to its less production. . . -
- (B) - The export:of prﬁduct Y is decreasing: continuously due to
,COst ané}competition in the international market,
| OR
Describe any two reasons for leakages which are responsible for
e, decline in income,. ;0 e |

2 PN

FDG-H
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(Hindi Version)

S TeATRIE ) Srewt Rrrgin e Teem <1 &, el & S A o H A 2
g witereff e foft meam 7 g 8, IR R F s g,
dl 35 fat & foR w2 SRt B Herien 7€ @6 |
-3 Marks : 60
Y & 1 AREE R |
9 e v 7 & el IR et & s dfm |
%14 feeaforat (Working Notes) It 31 WRT 8t fRT |

Marks
(a) @W%mﬁﬂmﬂw?ﬁﬁ% : 5
fa 31w o 210
P/E 3TJ9Tq 12.5
e R wfower i 12%
STEEX AIEH o TR T S AR o Z 130
mwwﬁ%
(i) IR YT A |
(if) FETH AT YA ST T 3 7 AR T |
(iii) P/E 3T, F&T S Aifer 1 370 % qoq W w7 |
(iv) ¥9 P/E U W 33 T SR 057 |
V) mqﬁqnﬁawmm@mﬁmwwl
FDG-H P.T.O.
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(b) Teh P <hl AT MY f6hT 2 12 MG B | ATW-HEN FIE 20% 5
3 3R T ITETd T @ial ° AW o aE 15% 2 | S99 3UR 3
- 1/10, T 50 fe B 3R 3fera wug arafy 40 7 R | foora o & wied
T 50% ITHIHT Fohg WL hT TN Hid & 3 areived 5wor fsea &1 29
gl

fesra 4 gfg & forg, ol ot adwm sur vt & el w0
2/10, 8 35 T& e =t 2 | Roradh Hrw srgeniva sk Teet 2 15
g g STem | fashg § Yram T %@ gl e giwh ewe @
Jrga g Ef 10 o @ w0 & swh | 39 st Ay % s,
forsha e o e & 80% IUWIRET G Teha e T ITANT HET ST
gl

FLE30% R |

qeirg AR, 71 Fet Y AU YR w6t # wgeE w1 TR | (T
9 | 360 fe 7 <fifsm 1)

(c) Tk ! Tk TREreT & faw e =meedt @ | 399 faw 2 4,50,000 F 5
IRReh fafait 6 srrarermar €nft | 5 ot % et SwEeh S %
T SHERIE Hed 2 50,000 B | GRS % 3= fyaww fnet R

TG %A | I A waaE
el HFAH
AEH (3) 3,30,000 5,40,000 6,31,250
fer e (s @ 75,000 1,50,000 | 2,00,000
TI) R])
B TT 40% & | TR Yft <6t STHTG SThTa 12% & | Jofima e &t
WHRAT |
(i) T qNGTT ¥ NPV ht Tomn Hif |
FDG-H
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(ii) S JoW 2 9N 4 3= A F 9R ¥ FfFd & weg Wb any
% R # HAffeea 2 | 39 oy 4, avmet @ avt & @99 *n
A IR TTEHt THT | GAHE A H IHHIE H T NPV H

U IR |
99 1 2 3 4 5
PVIFg 15, | 0.893 | 0.797 | 0.712 | 0.636 | 0.567
PVIFAg ;. | 0.893 | 1.690 | 2.402 | 3.038 | 3.605

(@) X fefis % for frm geamd sem i e 2

FA ITEH (3) 4,25,000

i e 3.125

15% R 379 (2 100 TAF) 1,000

guaT 9 6 T=T 2,500

LT 50%

X fafies & EPS i o hifdie, afe fasma  40% fivrae % afomaeasy
EPS Y 8 AT ¥ |
31 ATE, 2023 % GHTH EBW 91 99 % € AQUA Ltd. & &w=fRa
frfeRad geamd o sruma e To # -
1] AIITT 4.0
Tfre alteror U 2.5
Y ITEd TN (Frshg R ammaTia) 6
Na syt sty (&) 70
et 399 3™ 23.5
o] e % 3,10,000
F1 GHIRT SRR 9T (Fosha R 3meia) | 0.96
EETARCC I 0.43
@i A9 0.48
A FHAT ATHIT %1,75,000
JUAT AT &3 STTITT 1.60
TS 99 4 360 feq AM |
FDG-H
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ATTeRT 31 AT, 2023 1 1R frgt i v & |
31 TS, 2023 %! e fgn

CURG 3 wefert ?
HHAT W ISt (2 10 i xxx | REfiemiEt |0 xxx
313
9 3R 31y XXX | @Y XXX
ErefehTe M RO XXX | SR ' XXX
EISGUEG] 3,10,000 | 97 we 1R XXX

Uehe TF S XXX
A Xxx | g XXX

ffciiea g=md C1ZA Lid. @ TR &

‘Fﬁ GTEAT %
HHAT 3 ISf (2 10 TAh) 8,00,000
gierefta 20,00,000
9% IR 373 it (2 100 ) 12,00,000
12% Erertetey swor 10,00,000
TS §F AT 8
RIS T 30%
A -3 AT 25

AT g U foaria afesmn searfem @, fas féw 2 34,50,000 %
Jfafter e Y smaveashar @ | 39 TEaifad R & $ru, s ) &
3R H & Tgat i AT 2 6,15,000 wf a9 F §¢ wwh | affes By
FrfaRaa wient @ e s e 2
AU TSR Fod W HHaT 373 SR} Tk, 12T
o T 16% Sraiarey o1 IUR el
FDG-H
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e giea fram ST 8 RF 50% & 80% Avft § FOT-THAT A
(/ST & HS) Jed-HTT JITA H) U 22 T A ATTT &
80% ¥ ST FRIT-FHAT U, I -3 I i TR 18 T I |
CRiE:
gee difvre fop arfefces doit <1 S[e =1 Ted 3iftss 9 fyheq &9 @1 @

dTfeh SR qe Wfer 3197 (MPS) 3fereheas & |
4. 319, 2023 % D Ltd. it §of vm e won s R 10
- 3
AT 39 Gl (X 10 TAH) 30,00,000
8% AT 3% ISt (R100 I=&+) | 10,00,000
12% VT (% 100 T) 10,00,000

HUT 33 HT TAHH SR e T 80 Tfer 39 ] | HOEA A 2 14.07 Wy
FHY AN YT fRa B | Wi 99 g6, 6 2 10 R ST A1
YTTAT ToaT T | STEATINE T % 16 Wi S R | |
8% IAftM 3w dfe 98 wwEE 6% Sftem W Mufig ;| yA®
AT 37 T TIHH AR G4 2 104 8 |

12% Fo9 10 99 9991a 20% ftem w wiwdg 2 | @ w3 H
AT 2 5 fd o # |
FHHT 40% FLH SRR H 2 |

& e e 1 fort A & fore et &% & 2 30,00,000 T 15%
Sttt o1 YR oA et @ | 39 oty fofa 3 swror awar v ot
T ATHI 2 16 I 3791 & 2 18 Wl 7% 1 gmifaa ® | qunfy wha
THAT I TR T | T 80 & T 72 Wit 3 7 e AT & 9ifeh
e it smféra wfower Y gt adur sToR TRfRfort | anaia 2

FDG-H P.T.O.
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a7ufera
(i) T Tod R H IWN Hh GqqH Wid shaa St F v
(WACC) st fuffa hifs |
(ii) HATT ASHT & T G&deh eI HI BT ST e WIa 3iea §oft i
AT (WACC) ht 7o shife |
Rl 1% | 2% | 3% | 4% | 5% | 6% | 7%
FVIF; ; 1.051 | 1.104 | 1.159 [1.217 | 1.276 | 1.338 | 1.403
FVIFj ¢ 1.062 | 1.126 | 1.194 | 1.265 | 1.340 | 1.419 | 1.501
FVIF; , 1.072 | 1.149 | 1.230 | 1.316 | 1.407 | 1.504 | 1.606

=R ¥ g, Z ferfiee 3 v wufi= 2 4,80,000 ¥ @l fwem sgmfa st 10
St 8 o R rafE g & @ | 3wt Sfiem W g et @ vefa
(SLM) & STHER TN ST 8 | St 39 WefH ) T =18 #3f &% 91y
Fee1 argdt ® | 78 uefi o1 fereor fre e R

73 #sfia <t AFTE T 12,00,000 B | 39 WA %y foshan qoe A <l
% 2,40,000 % oA W o % foTq Hgwa 2 | GOt 79 1 e ik
T I AR 2 40,000 BRY | I 559 4 h 80% T WA G0 T
ST 37K STt T YA T a9 & 3T J foha Stme |

¢« BTE @ 20% S 94 saferiad (WDV) ugfa % SIgER e e |

T WY 1 STFATRG ST Sfem =R ad @ 3R =R o & 3t § 3
31afiTE 9631 2 1,00,000 % |

Fferien anfifen fosrar a1 2 12,25,000 2 |

VT 9 50% 2 |
AR AT T (B9 W) 2 1,18,750 Tieras 2 |

FDG-H

© The Institute of Chartered Accountants of India



(2)

(®

(©)

(19)
FDG-H

T g9 % YR H T 2,50,000 AT A 9§ o T | 2 3,00,000
HAfafew wriefia {6t i smawaha g | Y a9 & 7= § Hrefia gt
I A

T 30% R |

ST T TR AT AS |

z forfires #1d arfafies foam 7t wuf afe 129% A wn a2 |
HEATE T, o et wefi et =nfey svers 7= |

T4 1 2 3 4 5

PVIF) 15t | 0.893 | 0.797 | 0.712 | 0.636 | 0.567

Teft grr 9, 37 vt B geEfleg HifT 58 v w5 wre aiw
(@ ) TR A o T T BT S92 | |
Rl HRviE St ok SwmEfyw Ry wEve ¢, i
IRETE =5k & g Scdted aeil fasha & game dere & e arravas
2 17 -l Fifm |

- forfia Seite & farvetanr & «aiefl W =R sTaumron %1 @fqg § auiA

Hife |
g
Hfrd rfengea e <t ferdiwaredt we ==t Hif |

FDG-H
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i feorfor (Working Notes) 31 shT HIT B =fRu |

(@) ¥ et fordw form ond & wafRim FraferRaa Saeertt @ meft 2

e g 7 e R |

(20)
FDG-H

-9

A9 ¥ H A Tl i et o I i |

Teraur DR
R HUS H)

Fft arf=m sovm = 1620
I A=W 399 =Y 750
BrAIORIEIREERN 500
fata 400
T 440
faew @ yg w9 20
| 715 aTrEE # 100

Marks

Marks : 40

FTaeh! =5 Tarftr 1 I hEa g 2 <t T o1 Y TR R |
(b) 317, 2023 & wrafa frfeaRaa stewet @ sl ggr it orm et ; 2

foreon @S H)
L GER R 28637
.. o7E. T &l <Y som 5673
T BT T 9T 400
AR .3, T 3= 5 210

(c) Torsht yeaa fawr (FDI) 3R faesht dewifera faw (FPD) & fiw i 3

T|EH |

(d) iemaEyr # ggrehifa gume | fiuer % T aereig Hify % 7w sk 2
Iaeh! 9 femiwanant Y faasmn it |

FDG-H
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(@) () U Ireiegaeyn & wafRa FefiRad SHei 2
R ST 2 1,000 1S
Hara ITrT S 0.8
I T TIFH W % 10,000 U

3ueh! areferaen 3 frae o R Ui = <t U T R |

(i) TET GRS & HROT TR HI fawerar H qoen d Fugd &
fore sl gwasl <1 SeoiE L |

() () 319, 2023 & Tt PrfRaa steel & M1 3k M4

TR B - @ g )
Toe A Al 3,01,78,670
T & Rk e | 6,48,902
st 7w S 1,41,31,650
i o grafty s 31,24,276
el & g ST 7,64,130
AR &38| 3=y S 3,98,048
STEER S ST 2,02,684
STREX TP F=d THT09H (NSCs) 820

W g H e wt |

FDG-H
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(@ )

(i)

(b) @

(ii)

(22)
FDG-H
QW G 3 H = 3R et 1 ST Hd & | T G T
arfereet =t 3R Wi & IS B TS FU-HET hY T
1 ST @ :

T G W H
< <Rl 1 ZohrS 6.0 2.0
A 1 T 2.5 5.0

(A) TFI gt & awedf o g eun | o Y ITehar Y T
|
(B) Wia % Iaured A fopa g oY foroe g 2 2
(C) <t & Ieareq o fopg ew P gew & 2
T rferaen # ¢ 5,000 g F faw o gfg g ? | fwma
394 wg it (MPC) 0.82 & |
HTYh! Sreferan & 31 SR s § 7§ Fe1 9fg Y T He R |
¥R & S-¢7 g ot e g 300 gfdein & =
FaarAl i fae Fifd |
Frafafad uel < s =t
Freae whifa (Stagflation)
HeHAYT 999 (Contagion Effect)

10. (@) () U fawmiia en @ gafRe fafiRag JFesl st Suees

?:
v @ 2 140 FUS
T @ (G) 2 90 HS
fata 0 % 100 S
I B (C) = | 80 + 0.8 Yd (JHIST 3TT)
T (M) = 50 + 0.09Y (3T
T (T) 0.2 Y (3I1)

FDG-H
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(23)
FDG-H Marks
(A) I (Y) o FgeT W HT Ia1 T |
B) foreft MR Ui i oET L |
(€) afe faw 7 2 30 Fig i gfg = < I 7w yg Fafa Hi
UM AT |
(i) Th S HI ATgH AU SF A T 50,000 AT F@T 2 | TG4 2
SHTHTIAT GRT e <ht HIT T U A % 7T s Y 20 Tferera
¥ ford @ sEvEE R |
UTESH RI UEt TR TRM 6 MNYR | g70 &9 § Sk woreft g Iem
e ST1 Y TR AT R |
(b) () w1 fova =UR WA (WTO) TIesh U6 SR Trft g 3
I (GATT) & g & 7 HTewr Higa &zt |
(i) F=fafea fufeat & et & e % faverwo 3 sy weet 2
(tems)%mﬁfm:
(A) oG A1 HE N TH AT TS BT R =g 71 Qa1 % Pt
1 GlGER % TN =T YEIT <l AT 8§ IR |
(B) TG AN H&1 H T Afafh IHE A WA WA B FA
A | IfRee |
(C) =% A1 Q1 H T HATIRTH T18 % HROT el g A1 Qe
& fomian a1 @lieer & e = vadl = B I @ A
qiEdH | |
(D) Tordlt a%g o a1 i T fafced 36 g0 GO B HA
amTa § giterd |

FDG-H P.T.O.
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11.

(@ ®

(ii)

(b) O

(ii)

(24)
FDG-H
A1 iR s srdferaeen # atiRl @9 | 2 10 e Hi g B
B I HU A T 5 FUe Hi gfg Tt 8 | 39 TR = =7
T 5 & | $9 X8 shi g ST GDP T 4T 378 T 2
frafafga faaor @ £2,00,000 % fow ATRS (arbitrage) 6
TOMET
£1=2100
US $1=280
£1=US $ 1.30 UK &
W Rren ® ateran = fAfae a8 Safe fod W@ fen @
TSTAT o TGN HIAT 8 | 39 HUYT & ATAF | Th fashasiia
Jrefeaee W 3 W 3R fad Wt @ & gumEl it w8 § =
|
=R fifq & arem % w9 1 wer g e fufeat & =
eH ISM I =IRT ?
(A) T 3WTET B ! 9918 ¥ Th HTIIH I9E X i WA
] AR & 3Tefiss o R |
(B) JARWBY gWR & &Ava 3R foequt & HROT I Y
e SR iR @ 2 |
AYa
e % R < wrojl 1 9ol Hife it 3 § foee % g
ST £ |

FDG-H
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